

New Oscillation Results For Third-Order Half-Linear Neutral Differential Equations

K. S. Vidhyaa ¹, John R. Graef ^{2,*} and E. Thandapani ³

¹ Department of Mathematics, SRM Easwari Engineering College, Ramapuram, Chennai, Tamil Nadu 600 089, India; vidyacertain@gmail.com

² Department of Mathematics, University of Tennessee at Chattanooga, Chattanooga, TN 37403-2598, USA

³ Ramanujan Institute for Advanced Study in Mathematics, University of Madras, Chennai, Tamil Nadu 600 005, India; ethandapani@yahoo.co.in

* Correspondence: john-graef@utc.edu

Received: 29 January 2020; Accepted: 26 February 2020; Published: 2 March 2020



Abstract: The main purpose of this paper is to obtain criteria for the oscillation of all solutions of a third-order half-linear neutral differential equation. The main result in this paper is an oscillation theorem obtained by comparing the equation under investigation to two first order linear delay differential equations. An additional result is obtained by using a Riccati transformation technique. Examples are provided to show the importance of the main results.

Keywords: third-order; neutral; oscillation; delay differential equation

MSC: 34C10; 34K11

1. Introduction

In this paper, we study the oscillation of all solutions of the third-order neutral differential equation

$$(g(t)((h(t)z'(t))^\alpha)')' + f(t)y^\alpha(t) = 0, \quad t \geq t_0, \quad (1)$$

where $z(t) = y(t) + p(t)y(\sigma(t))$, subject to the following assumptions:

- (H₁) $\sigma \in C^1([t_0, \infty), \mathbb{R})$ with $\sigma(t) \leq t$, and $\lim_{t \rightarrow \infty} \sigma(t) = \infty$;
- (H₂) $p, f \in C([t_0, \infty), [0, \infty))$, $0 < p(t) \leq p < 1$, and f does not vanish identically;
- (H₃) α is a ratio of odd positive integers;
- (H₄) $g, h \in C([t_0, \infty), (0, \infty))$ and satisfy

$$\int_{t_0}^{\infty} \frac{1}{g^{\frac{1}{\alpha}}(t)} dt = \int_{t_0}^{\infty} \frac{1}{h(t)} dt = \infty.$$

The function $y(t)$ is said to be a solution of Equation (1) if the corresponding function $z(t) \in C^1([T_y, \infty))$, $T_y \geq t_0$, $(h(t)(z'(t)^\alpha)') \in C([T_y, \infty))$, $g(t)(h(t)(z'(t)^\alpha)') \in C([T_y, \infty))$, and $y(t)$ satisfies Equation (1) on $[T_y, \infty)$. We assume Equation (1) possesses solutions satisfying $\sup\{|y(t)| : t \geq T\} > 0$ for all $T \geq T_y$ i.e., Equation (1) has continuable solutions. Such a solution of Equation (1) is called oscillatory if it has infinitely many zeros on $[T_y, \infty)$, and *nonoscillatory* otherwise. We say that an equation is oscillatory if all of its solutions are oscillatory.

In recent years there has been great interest in investigating the oscillatory and asymptotic behavior of third-order functional differential equations. A significant difference between the results here and those in [1–11] is that in all these papers the results obtained are of the form that a solution

is either oscillatory or it converges to zero. This is often the “expected” result if direct proofs are attempted. In the present paper, we are able to obtain the oscillation of all solutions due to the technique of proof, namely, by comparing the equation under consideration to an inequality whose oscillatory behavior is known.

In [12], the authors used a relation of the form

$$y(t) \geq (1 - p(t))z(t) \quad (2)$$

where y is positive and z is positive and increasing. In addition, based on a result given in ([13], page 28), if y and z are positive and z is decreasing, they then assume that y is also nonincreasing. This leads to the following relation between y and z :

$$y(t) \geq \left(\frac{1}{1 + p(t)} \right) z(t). \quad (3)$$

However, in a very nice paper [14], the authors present a counter example to show that if z is decreasing, then y does not need to be decreasing, and therefore the relation Equation (3) is not correct. Motivated by this observation, in this paper we first obtain a valid relation between y and z if both are positive and z is decreasing (see Lemma 3 below). Then using this relation, we present some new oscillation criteria for Equation (1). Thus, the results established in this paper are new and complement results already reported in the literature.

2. Main Results

We begin with the following result that gives the basic properties of positive nonoscillatory solutions of Equation (1). An analogous result holds for eventually negative solutions.

Lemma 1. Assume that $y(t)$ is a positive solution of Equation (1). Then the corresponding function $z(t)$ satisfies one of two cases for all sufficiently large t :

- (I) $z(t) > 0$, $z'(t) < 0$, $(h(t)z'(t))' > 0$, and $(g(t)((h(t)z'(t))')^\alpha)' \leq 0$;
- (II) $z(t) > 0$, $z'(t) > 0$, $(h(t)z'(t))' > 0$, $(g(t)((h(t)z'(t))')^\alpha)' \leq 0$.

Proof. The structure of positive nonoscillatory solutions of Equation (1) under condition (H_4) follows from well known results of Kiguradze and Chanturia [15]. \square

In the following two lemmas we obtain useful relationships between the functions y and z . These will be used in place of the incorrect inequality (3) described in the previous section of this paper.

Lemma 2. Let $y(t)$ be a positive solution of Equation (1) and let $z(t)$ satisfy Case (II) of Lemma 1. Then

$$y(t) \geq (1 - p(t))z(\sigma(t)) \quad (4)$$

for all sufficiently large t .

Proof. From the definition of $z(t)$, we have $z(t) \geq y(t)$ and

$$y(t) \geq z(t) - p(t)z(\sigma(t)) \geq (1 - p(t))z(\sigma(t))$$

since z is increasing. \square

To simplify our notation, for any $T \geq t_0$, we set

$$\begin{aligned} G_T(t) &= \int_T^t \frac{1}{g^{\frac{1}{\alpha}}(s)} ds, \\ H_T(t) &= \int_T^t \frac{G_T(s)}{h(s)} ds, \\ Q_T(t) &= \frac{1}{h(t)} \int_t^\infty \left(\frac{1}{g(s)} \int_s^\infty f(u) du \right)^{\frac{1}{\alpha}} ds, \\ \phi_T(t) &= \exp \left(\int_T^t Q_T(s) ds \right) \end{aligned}$$

for all $t \geq T$.

Lemma 3. Let $y(t)$ be a positive solution of Equation (1) with $z(t)$ satisfying Case (I) of Lemma 1 and assume that $\psi(t) = \left(\frac{\phi_T(\sigma(t))}{\phi_T(t)} - p(t) \right) > 0$ for $t \geq T$. Then,

$$z(t)\phi_T(t) \text{ is increasing} \quad (5)$$

and

$$y(t) \geq \psi(t)z(\sigma(t)) \quad (6)$$

for $t \geq T$.

Proof. Assume that $y(t)$ is a positive solution of Equation (1) with the corresponding function $z(t)$ satisfying Case (I) of Lemma 1 for all $t \geq T$, for some $T \geq t_0$. Then, it is easy to verify that $\lim_{t \rightarrow \infty} h(t)z'(t) = 0$ and $\lim_{t \rightarrow \infty} g(t)((h(t)z'(t))')^\alpha = 0$. An integration of Equation (1) then yields

$$g(t)((h(t)z'(t))')^\alpha = \int_t^\infty f(s)y^\alpha(s)ds \leq \int_t^\infty f(s)z^\alpha(s)ds \leq z^\alpha(t) \int_t^\infty f(s)ds.$$

Integrating again, we obtain

$$h(t)z'(t) \geq -z(t) \int_t^\infty \left(\frac{1}{g(s)} \int_s^\infty f(u) du \right)^{\frac{1}{\alpha}} ds,$$

or

$$z'(t) \geq -z(t)Q_T(t).$$

Hence,

$$(z(t)\phi_T(t))' = z'(t)\phi_T(t) + z(t)\phi_T'(t) \geq z(t)(\phi_T'(t) - Q_T(t)\phi_T(t)) = 0,$$

so $z(t)\phi_T(t)$ is increasing.

From the definition of z , we have

$$\begin{aligned} y(t) &\geq z(t) - p(t)z(\sigma(t)) = \frac{z(t)\phi_T(t)}{\phi_T(t)} - p(t)z(\sigma(t)) \\ &\geq \left(\frac{\phi_T(\sigma(t))}{\phi_T(t)} - p(t) \right) z(\sigma(t)) \end{aligned}$$

since $z(t)\phi_T(t)$ is increasing. This proves the lemma. \square

Our final lemma provides some inequalities involving z and z' and the functions G_T and H_T defined above. They are used in the proofs of Theorems 1 and 2 below.

Lemma 4. Assume that $y(t)$ is a positive solution of Equation (1) and $z(t)$ satisfies Case (II) of Lemma 1 for all $t \geq T$. Then

$$z'(t) \geq \frac{g^{\frac{1}{\alpha}}(t)}{h(t)} (h(t)z'(t))' G_T(t), \quad (7)$$

$$z(t) \geq g^{\frac{1}{\alpha}}(t) (h(t)z'(t))' H_T(t), \quad (8)$$

and

$$z(\sigma(t)) \geq H_T(\sigma(t)) \frac{h(t)z'(t)}{G_T(t)} \quad (9)$$

for all $t \geq T$.

Proof. The relation Equation (7) easily follows from Lemma 5 in [11], and Equation (8) follows by integrating Equation (7) from T to t and simplifying. From Equation (7), it is easy to see that

$$\left(\frac{h(t)z'(t)}{G_T(t)} \right)' \leq 0,$$

and therefore $\frac{h(t)z'(t)}{G_T(t)}$ is decreasing for $t \geq T$. Furthermore,

$$z(t) = z(T) + \int_T^t \frac{h(s)z'(s)}{G_T(s)} \frac{G_T(s)}{h(s)} ds \geq \frac{h(t)z'(t)}{G_T(t)} H_T(t).$$

Hence,

$$z(\sigma(t)) \geq H_T(\sigma(t)) \frac{h(\sigma(t))z'(\sigma(t))}{G_T(\sigma(t))} \geq H_T(\sigma(t)) \frac{h(t)z'(t)}{G_T(t)}$$

since $\frac{h(t)z'(t)}{G_T(t)}$ is decreasing. This completes the proof of the lemma. \square

We are now ready to state and prove our main results.

Theorem 1. Let $\sigma'(t) > 0$ and assume that there is a function $\xi(t) \in C^1([t_0, \infty))$ such that

$$\xi'(t) \geq 0, \quad \xi(t) > t \text{ and } \eta(t) = \sigma(\xi(\xi(t))) < t. \quad (10)$$

If both of the first order delay differential equations

$$w'(t) + \left[\frac{1}{h(t)} \int_t^{\xi(t)} \left(\frac{1}{g(s_2)} \int_{s_2}^{\xi(s_2)} f(s_1) \psi^\alpha(s_1) ds_1 \right)^{\frac{1}{\alpha}} ds_2 \right] z(\eta(t)) = 0 \quad (11)$$

and

$$w'(t) + f(t)(1 - p(t))^\alpha H_T^\alpha(\sigma(t)) w(\sigma(t)) = 0 \quad (12)$$

are oscillatory, then Equation (1) is oscillatory.

Proof. Let $y(t)$ be a positive solution of Equation (1). Then there is a $T \geq t_0$ such that $y(t) > 0$ and $y(\sigma(t)) > 0$ for all $t \geq T$. From the definition of $z(t)$, we have $z(t) > 0$ for all $t \geq T$, where T is also chosen so that Lemmas 1–4 hold for all $t \geq T$.

Case (I). Using Equation (6) in Equation (1), we obtain

$$(g(t)((h(t)z'(t))')^\alpha)' + f(t)\psi^\alpha(t)z^\alpha(\sigma(t)) \leq 0, \quad (13)$$

and integrating from t to $\xi(t)$ yields

$$\begin{aligned} g(t)((h(t)z'(t))')^\alpha &\geq \int_t^{\xi(t)} f(s_1)\psi^\alpha(s_1)z^\alpha(\sigma(s_1))ds_1 \\ &\geq z^\alpha(\sigma(\xi(t))) \int_t^{\xi(t)} f(s_1)\psi^\alpha(s_1)ds_1. \end{aligned}$$

Thus,

$$(h(t)z'(t))' \geq z(\sigma(\xi(t))) \left(\frac{1}{g(t)} \int_t^{\xi(t)} f(s_1)\psi^\alpha(s_1)ds_1 \right)^{\frac{1}{\alpha}}.$$

Integrating again from t to $\xi(t)$, we obtain

$$-h(t)z'(t) \geq \int_t^{\xi(t)} z(\sigma(\xi(s_2))) \left(\frac{1}{g(s_2)} \int_{s_2}^{\xi(s_2)} f(s_1)\psi^\alpha(s_1)ds_1 \right)^{\frac{1}{\alpha}} ds_2,$$

or

$$-z'(t) \geq z(\eta(t)) \left(\frac{1}{h(t)} \int_t^{\xi(t)} \left(\frac{1}{g(s_2)} \int_{s_2}^{\xi(s_2)} f(s_1)\psi^\alpha(s_1)ds_1 \right)^{\frac{1}{\alpha}} ds_2 \right).$$

Finally, integrating from t to ∞ gives

$$z(t) \geq \int_t^\infty \frac{z(\eta(s_3))}{h(s_3)} \int_{s_3}^{\xi(s_3)} \left(\frac{1}{g(s_2)} \int_{s_2}^{\xi(s_2)} f(s_1)\psi^\alpha(s_1)ds_1 \right)^{\frac{1}{\alpha}} ds_2 ds_3. \quad (14)$$

Let us denote the right side of Equation (14) by $w(t)$. Then $w(t) > 0$ is decreasing, $w(t) \leq z(t)$, and it is easy to see that $w(t)$ is a positive solution of the differential inequality

$$w'(t) + \left[\frac{1}{h(t)} \int_t^{\xi(t)} \left(\frac{1}{g(s_2)} \int_{s_2}^{\xi(s_2)} f(s_1)\psi^\alpha(s_1)ds_1 \right)^{\frac{1}{\alpha}} ds_2 \right] w(\eta(t)) \leq 0.$$

Then Theorem 1 in [16] shows that the corresponding differential Equation (11) also has a positive solution, which is a contradiction.

Case (II). Using Equation (4) in Equation (1), we have

$$(g(t)((h(t)z'(t))')^\alpha)' + f(t)(1-p(t))^\alpha z^\alpha(\sigma(t)) \leq 0, \quad t \geq T. \quad (15)$$

From Equation (8),

$$z^\alpha(\sigma(t)) \geq g(\sigma(t))[(h(\sigma(t))z'(\sigma(t)))']^\alpha H_T^\alpha(\sigma(t)), \quad t \geq T, \quad (16)$$

so combining Equations (16) and (15) yields

$$(g(t)((h(t)z'(t))')^\alpha)' + f(t)(1-p(t))^\alpha H_T^\alpha(\sigma(t))g(\sigma(t))[(h(\sigma(t))z'(\sigma(t)))']^\alpha \leq 0, \quad t \geq T.$$

Let $w(t) = g(t)((h(t)z'(t))')^\alpha > 0$; then we see that $w(t)$ is a positive solution of the inequality

$$w'(t) + f(t)(1-p(t))^\alpha H_T^\alpha(\sigma(t))w(\sigma(t)) \leq 0.$$

Again by Theorem 1 in [16], this implies that the corresponding differential Equation (12) also has a positive solution, which is a contradiction. This completes the proof of the theorem. \square

As an example of how to use our above theorem to obtain explicit oscillation criteria, we have the following corollary.

Corollary 1. *Let conditions of Theorem 1 hold. If*

$$\liminf_{t \rightarrow \infty} \int_{\eta(t)}^t \frac{1}{h(s_3)} \int_{s_3}^{\zeta(s_3)} \left(\frac{1}{g(s_2)} \int_{s_2}^{\zeta(s_2)} f(s_1) \psi^\alpha(s_1) ds_1 \right)^{\frac{1}{\alpha}} ds_2 ds_3 > \frac{1}{e} \quad (17)$$

and

$$\liminf_{t \rightarrow \infty} \int_{\sigma(t)}^t f(s) (1 - p(s))^\alpha H_T^\alpha(\sigma(s)) ds > \frac{1}{e} \quad (18)$$

are satisfied, then Equation (1) is oscillatory.

Proof. By ([17], Theorem 1), conditions Equations (17) and (18) imply that Equations (11) and (12) are oscillatory. \square

We conclude this section with the following theorem. The proof uses a Riccati transformation technique.

Theorem 2. *Let $\sigma'(t) > 0$ and let $\zeta(t) \in C^1([t_0, \infty))$ satisfy Equations (10) and (17). If there exists a real valued nondecreasing differentiable function $\rho(t)$ such that*

$$\limsup_{t \rightarrow \infty} \int_{t_0}^t \left[\rho(s) f(s) (1 - p(s))^\alpha \frac{H_T^\alpha(\sigma(s))}{G_T^\alpha(s)} - \frac{g(s) (\rho'(s))^{\alpha+1}}{(\alpha + 1)^{\alpha+1} \rho^\alpha(s)} \right] ds = \infty, \quad (19)$$

then Equation (1) is oscillatory.

Proof. Let $y(t)$ be a positive solution of Equation (1). Proceeding as in the proof of Theorem 1, we see that $z(t)$ satisfies one of the cases in Lemma 1. Case (I) can be eliminated by using condition Equation (17) as in the proof of Theorem 1. Now consider Case (II). Define

$$F(t) = \rho(t) \frac{g(t) ((h(t)z'(t))')^\alpha}{(h(t)z'(t))^\alpha} \quad \text{for } t \geq T; \quad (20)$$

then $F(t) > 0$ for all $t \geq T$. Differentiating Equation (20) using Equation (15), and simplifying, we obtain

$$F'(t) \leq \frac{\rho'(t)}{\rho(t)} F(t) - \rho(t) f(t) (1 - p(t))^\alpha \frac{z^\alpha(\sigma(t))}{(h(t)z'(t))^\alpha} - \frac{\alpha F^{\frac{\alpha+1}{\alpha}}(t)}{\rho^{\frac{1}{\alpha}}(t) g^{\frac{1}{\alpha}}(t)}, \quad t \geq T. \quad (21)$$

Applying the inequality $Au - Bu^{\frac{\alpha+1}{\alpha}} \leq \frac{A^\alpha}{(\alpha+1)^{\alpha+1}} \frac{A^{\alpha+1}}{B^\alpha}$ with $A = \frac{\rho'(t)}{\rho(t)}$, $B = \frac{\alpha}{\rho^{\frac{1}{\alpha}}(t) g^{\frac{1}{\alpha}}(t)}$, and $u = F(t)$ in Equation (21), we obtain

$$F'(t) \leq -\rho(t) f(t) (1 - p(t))^\alpha \frac{z^\alpha(\sigma(t))}{(h(t)z'(t))^\alpha} + \frac{g(t) (\rho'(t))^{\alpha+1}}{(\alpha + 1)^{\alpha+1} \rho^\alpha(t)}. \quad (22)$$

Finally, using Equation (9) in Equation (22) and then integrating the resulting inequality from T to t , gives

$$\int_T^t \left[\rho(s) f(s) (1 - p(s))^\alpha \frac{H_T^\alpha(\sigma(s))}{G_T^\alpha(s)} - \frac{g(s) (\rho'(s))^{\alpha+1}}{(\alpha + 1)^{\alpha+1} \rho^\alpha(s)} \right] ds \leq F(T) < \infty.$$

This contradicts Equation (19) and completes the proof of the theorem. \square

3. Examples

In this section, we provide some examples to illustrate the importance of the main results.

Example 1. Consider the third-order neutral delay differential equation

$$(\sqrt{t}(\sqrt{t}(y(t) + py(\lambda t))')')' + \frac{1}{t^2}y(t) = 0, \quad t \geq 1. \quad (23)$$

Here we have $g(t) = h(t) = \sqrt{t}$, $f(t) = \frac{1}{t^2}$, $\alpha = 1$, $\sigma(t) = \lambda t$ with $0 < \lambda < 1$, and we take $p < \lambda^2$. Simple calculations show that $G_1(t) = 2(\sqrt{t} - 1)$, $H_1(t) = 2(\sqrt{t} - 1)^2$, $Q_1(t) = 2/t$, $\phi_1(t) = t^2$, and $\psi(t) = (\lambda^2 - p) > 0$. Choose $\xi(t) = \beta t$ with $\beta > 1$ and $\lambda\beta^2 < 1$; then $\eta(t) = \lambda\beta^2 t < t$ and condition Equation (17) becomes

$$\begin{aligned} \liminf_{t \rightarrow \infty} \int_{\lambda\beta^2 t}^t \frac{1}{\sqrt{s_3}} \int_{s_3}^{\beta s_3} \frac{1}{\sqrt{s_2}} \int_{s_2}^{\beta s_2} \frac{1}{s_1^2} (\lambda^2 - p) ds_1 ds_2 ds_3 \\ = 2(\lambda^2 - p) \left(1 - \frac{1}{\sqrt{\beta}}\right) \left(1 - \frac{1}{\beta}\right) \ln \frac{1}{\lambda\beta^2}. \end{aligned}$$

Condition Equation (18) becomes

$$\liminf_{t \rightarrow \infty} \int_{\lambda t}^t \frac{2}{s^2} (1 - p) (\sqrt{\lambda s} - 1)^2 ds = 2(1 - p) \lambda \ln \frac{1}{\lambda}.$$

Therefore, by Corollary 1, Equation (23) is oscillatory if $2(1 - p) \lambda \ln \frac{1}{\lambda} > \frac{1}{e}$ and $2(\lambda^2 - p) \left(1 - \frac{1}{\sqrt{\beta}}\right) \left(1 - \frac{1}{\beta}\right) \ln \frac{1}{\lambda\beta^2} > \frac{1}{e}$.

Example 2. Consider the equation

$$(t^{\frac{2}{3}}((t^{\frac{1}{3}}(y(t) + py(\lambda t))')')^{\frac{1}{3}})' + \frac{1}{t^{\frac{4}{3}}}y^{\frac{1}{3}}(t) = 0, \quad t \geq 1. \quad (24)$$

We have $g(t) = t^{\frac{2}{3}}$, $h(t) = t^{\frac{1}{3}}$, $f(t) = \frac{1}{t^{\frac{4}{3}}}$, $\sigma(t) = \lambda t$, $0 < \lambda < 1$, $\alpha = \frac{1}{3}$, and we take $p < \lambda^{\frac{81}{2}}$. Calculations show that $G_1(t) = 3(t^{\frac{1}{3}} - 1)$, $H_1(t) = \frac{3}{2}(2t - 3t^{\frac{2}{3}} + 1)$, $Q_1(t) = \frac{81}{2t}$, $\phi_1(t) = t^{\frac{81}{2}}$, $\psi(t) = (\lambda^{\frac{81}{2}} - p) > 0$. Condition Equations (17) and (18) are satisfied if

$$\frac{81}{2} (\lambda^{\frac{81}{2}} - p) \left(1 - \frac{1}{\beta^{\frac{1}{3}}}\right) \left(1 - \frac{1}{\beta^{\frac{2}{3}}}\right) \ln \frac{1}{\lambda\beta^2} > \frac{1}{e},$$

and

$$3^{\frac{1}{3}} \lambda^{\frac{1}{3}} (1 - p)^{\frac{1}{3}} \ln \frac{1}{\lambda} > \frac{1}{e}.$$

Then by Corollary 1, Equation (24) is oscillatory.

Example 3. Consider the third-order equation

$$(y(t) + py(\lambda t))''' + \frac{2\gamma}{t^3}y(t) = 0, \quad t \geq 1. \quad (25)$$

In this case we have $g(t) = h(t) = 1$, $\sigma(t) = \lambda t$ with $0 < \lambda < 1$, $\alpha = 1$, and $f(t) = \frac{2\gamma}{t^3}$ where $\gamma > 0$ is a constant. We take $p < \lambda$, and it is not hard to see that $G_1(t) = (t - 1)$, $H_1(t) = \frac{(t-1)^2}{2}$, $Q_1(t) = \frac{\gamma}{t}$, $\phi_1(t) = t^\gamma$, and $\psi(t) = (\lambda - p) > 0$.

Taking $\xi(t) = \beta t$ with $\beta > 1$ and $\lambda\beta^2 < 1$, we have $\eta(t) = \lambda\beta^2 t$ and condition Equation (17) takes the form

$$\liminf_{t \rightarrow \infty} \int_{\lambda\beta^2 t}^t \int_{s_3}^{\beta s_3} \int_{s_2}^{\beta s_2} \frac{2\gamma}{s_1^3} (\lambda - p) ds_1 ds_2 ds_3 = \gamma (\lambda - p) \left(1 - \frac{1}{\beta^2}\right) \left(1 - \frac{1}{\beta}\right) \ln \frac{1}{\lambda\beta^2}.$$

By choosing $\rho(t) = t$, we see that condition Equation (19) becomes

$$\begin{aligned} \limsup_{t \rightarrow \infty} \int_1^t \left[\frac{2\gamma}{s^2} (1-p) \frac{(\lambda s - 1)^2}{2(s-1)} - \frac{1}{4s} \right] ds \\ > \limsup_{t \rightarrow \infty} \int_1^t \left\{ \left[\gamma(1-p)\lambda^2 - \frac{1}{4} \right] \frac{1}{s} - \frac{2\gamma\lambda(1-p)}{s(s-1)} + \frac{\gamma(1-p)}{s^2(1-s)} \right\} \rightarrow \infty \end{aligned}$$

as $t \rightarrow \infty$ provided $\gamma(1-p)\lambda^2 > 1/4$. Hence, by Theorem 2, Equation (25) is oscillatory if

$$\frac{\gamma(\lambda - p)(\beta - 1)^2(\beta + 1))}{\beta^3} \ln \frac{1}{\lambda\beta^2} > \frac{1}{e} \quad \text{and} \quad 4\gamma(1-p)\lambda^2 > 1.$$

4. Conclusions

In this paper, we have obtained some new oscillation criteria for Equation (1) in the cases where $0 < p(t) \leq p < 1$ and $\alpha \in (0, \infty)$. These results ensure that all solutions of the equation studied are oscillatory. Our results are new in the sense that the results in the papers [1–11] will not ensure that all solutions of Equation (1) are oscillatory.

It would also be of interest to extend the results here to the cases where $-1 < p(t) \leq 0$ or $p(t)$ is oscillatory. The extension of the results here to higher order equations such as

$$(g(t)((h(t)z'(t))^\alpha)^{(n)} + f(t)y^\alpha(t) = 0, \quad t \geq t_0,$$

where $z(t) = y(t) + p(t)y(\sigma(t))$ and $n \geq 3$ is an odd integer would also be of interest.

Author Contributions: Conceptualization, K.S.V., J.R.G. and E.T.; formal analysis, K.S.V., J.R.G. and E.T.; investigation, J.G.R. and E.T.; methodology, K.S.V.; validation, J.R.G.; Writing—original draft, K.S.V.; Writing—review & editing, J.R.G. and E.T. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Conflicts of Interest: The authors declare no conflict of interests.

References

1. Baculikova, B.; Džurina, J. Oscillation of third-order neutral differential equations. *Math. Comput. Model.* **2010**, *52*, 215–226.
2. Baculikova, B.; Džurina, J. On the asymptotic behavior of a class of third order nonlinear neutral differential equations. *Open Math.* **2010**, *8*, 1091–1103.
3. Chatzarakis, G.E.; Grace, S.R.; Jadlovská, I.; Li, T.; Tunç, E. Oscillation criteria for third-order Emden-Fowler differential equations with unbounded neutral coefficients. *Complexity* **2019**, 2019, doi:10.1155/2019/5691758.
4. Došlá, Z.; Liska, P. Oscillation of third-order nonlinear neutral differential equations. *Appl. Math. Lett.* **2016**, *56*, 42–48.
5. Došlá, Z.; Liska, P. Comparison theorems for third order neutral differential equations. *Electron. J. Diff. Equ.* **2016**, 2016, 1–13.
6. Džurina, J.; Thandapani, E.; Tamilvanan, S. Oscillation of solutions to third-order half-linear neutral differential equations. *Electron. J. Differ. Equ.* **2012**, 2012, 1–9.
7. Graef, J.R.; Tunç, E.; Grace, S.R. Oscillatory and asymptotic behavior of a third order nonlinear neutral differential equation. *Opusc. Math.* **2017**, *37*, 839–852.
8. Jiang, Y.; Jiang, C.; Li, T. Oscillatory behavior of third order nonlinear neutral delay differential equations. *Adv. Differ. Equ.* **2016**, 2016, 1–12.
9. Li, T.; Thandapani, E.; Graef, J.R. Oscillation of third-order neutral retarded differential equations. *Inter. J. Pure Appl. Math.* **2012**, *75*, 511–520.

10. Li, T.; Zhang, C.; Xing, G. Oscillation of third-order neutral delay differential equations. *Abstr. Appl. Anal.* **2012**, *2012*, doi:10.1155/2012/569201.
11. Thandapani, E.; Li, T. On the oscillation of third order quasi-linear neutral functional differential equations. *Arch. Math.* **2011**, *47*, 181–199.
12. Graef, J.R.; Savithri, R.; Thandapani, E. Oscillatory properties of third order neutral delay differential equations. In Proceedings of the Fourth International Conference on Dynamical Systems and Differential Equations, Wilmington, DC, USA, 24–27 May 2002; pp. 342–350.
13. Bainov, D.D.; Mishev, D.P. *Oscillation Theory for Neutral Differential Equations with Delay*; Adam Hilger: New York, NY, USA, 1991.
14. Chatzarakis, G.E.; Džurina, J.; Jadlovská, I. A remark on oscillatory results for neutral differential equations. *Appl. Math. Lett.* **2019**, *90*, 124–130.
15. Kiguradze, I.T.; Chanturia, T.A. *Asymptotic Properties of Solutions of Nonautonomous Ordinary Differential Equations*; Kluwer Academic Publishers: Dordrecht, The Netherlands, 1993.
16. Philos, C.G. On the existence of nonoscillatory solutions tending to zero at ∞ for differential equations with positive delay. *Arch. Math.* **1981**, *36*, 168–178.
17. Koplatadze, R.G.; Chanturiya, T.A. Oscillating and monotone solutions of first-order differential equations with deviating argument (in Russian). *Differ. Uravn.* **1982**, *18*, 1463–1465.



© 2020 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<http://creativecommons.org/licenses/by/4.0/>).